e % F540] obd 2L nE?

® 3h-9<14 @ 3(4a-3)<1
® (6a-1)+720 @ (4x+5)2+2

B ab-2>4



@ 3x—x+2 ® 2x>5

D 9>-2

® a-5=4

@ 4x+1=5






UAEGA x -1 < 3x - 3& o] HA sh= x 9 ghZ 5H?

D -4 ® -3 B -2 @ 0 B 2



D a+4d<b+4
® 3a-1<3p-1

®B) —3a < -3b

@ -5+a<-5+b
1 1
- -b

@ FA<



6. —6<4-2x<109 |, x| gte] HI=?

D x>1 @ x<-3 ® -1<x<4

@ -4<x<1 ® -3<x<5H



7. He T LATSAA ALY

® 124+7>10 @ 2x+11>7+2x
® 4x+5(1-x)=3x @ 3x—5x<5+2x

B T—2%x4+22 <74+ 3x+x2



® ax-5>38
® (ba—21)#3x%x9

B 6xa<0Xx9



O 282 x ofl Tt 54 2= YEhH?

o

gt ol x @ St 3 7 A AR y 5k AL 5
0] Zk-e 5000 ¢ o]sto]ct,

® x+y<12 @ x+y <5000
® 7Tx+5y<12 @;+%s5000

® 7x + 5y < 5000



10. of®" A9 4 o] 15 & Tt = 72 Ho} Atk gh}, o]of &
A FolA 7H 22 =2

@D 10 @ 12 3 15 @ 16 3B 32

rlo
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® —2x+3>-2

@ -3x>-x-3

DO —x+4>-3

® 2x+1<x+4






13.

a<b<cd ), e BN G $L AL BE w2y
H7]

7Voa+ec<b+c

Y. a+b<b+c

. c-a<b-a

2}. ac < be

@ 7t @ 7h 4 ® 7} ot
@ Y =t G 7} U ot




14. 3<a<7¥9 "], A<-4a-1< Bt st} o] of, A+ B 9] 3r&?

D 10 ® =10 3 18 @ —18 B 21



15. -1<x<29W,a<-2x+1<bolHa+b 29 7te?

D -2 ® -1 3 0 @ 1 B 2



